Wiitten Fxercises (Do the © A prohio )

Simplify.

L. (3 + 2i) + (4 + 5D
3. (9 + 6i) — (3 + 2i)
55+ V=T + (=3 + V-2
(3 = 11i) — (=5 + 40)
9. (4 + 20V3) + (1 - 5iV3)
11. 2(—3 + 2i) + 3(—5 — 20)

13. (2 — 305 + ) 14. (5
16. (2 + iV3)? 17. (7
19, 3 + 2 20. (3
99. (3 + 2i)(3 — 2i) 23. (2
95. (2 + D)3 — 4D(1 + 20 26. (6
‘98, (9 + 20)(5 + D)9 — 20) 29. (4

-+

|

9. (2 + 6i) + (4 + 3D

.(11—\/:51—(—4+\/——5)

4
6. (8 — 70 + (=5 — 1)
8

(=6 — 20) - (-8 — 3i)
10. 8 — 3i\/B) + (-3 + 2iV/5)

12.
3i)(6 — 1)

—6(2 — i) + 3(4 — 5i)

i2)5 + iV2)

4i)*

vV =32 + V —3)
(6 + 203 + 30)
3i)(2 — T3 + D)

15. (6 — 2i)?
18. (4 — 37 — 20)

21. (V2 + (V2 — i)
24. (3 + V —2)(3 —

V-2

27. (7 — 5i)(2 — 3D(7 + 5i)
30. (7 — (4 + 20(5 + 20)
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Find the pr

1.3 - Ti
5.2 — 3i
Simplify.
9. 3 - 2.1'
1 =1
4 — Ti
4.
1 - 3i
4
19.
\/5 + 2
2 — iNT
94 :\/_

.2+i\/5

10.

15.

20.

25.

2. 6 + 5i
6.7 - Ti

4 + 5i
1+ i
5 — 6i
-3
7
V2 - 3i

(2 + 3i)?
(3 4 B

7

1 + 1
T34+ 2

2 i
5i
51 2+ i\V/3
"9 = i3
(3 + 3i)?
(1 + iy

26.

- 2i

oduct of each complex number and its conjugate.
3. 249

4, 17T = i
8 —101
1 — i 3 + 5i
12.4_&_ 13. o
3 9
17.4H’ 18'6+5f
2214—i\/§ 233—;‘\/5
"1 - iV2 "3+ V5
Y = (4 + 3i)°
(1 + D? 48, 3 = &



